
I
Il-

I

[. g

r',

Q

g

tr*eD-
t'

t .E;x tzq tL

Q"r o) t= zq
i

\ ___S
/
I

le

fq
,/z-

' ,al

t -,Zq
.'l*q

| :3q

c,[

t-r

t2q j

I

,/.
0 =-- I ,/,/' 2 ,/,/

'//

Y a aJb>+*s= TX tt/

3" g frl=S+ pal,+ qr +e

n -.
t(') =o -t , t+P 'F{ l€ =c
K'\ =B =+ -t +P -q +€ -B
\- / I

-1r-T

-) -z/ 
-t'rt'

,a"at'

-) P+d/tt
\.-.-.\l\ ----J) /' D-d =vrl

.t

-l-( (4JJ
3\)

= ?f =
i\ '-
\--

q p+l
-z +1

I

ZCI4t7



/Y 63.95 "?z
5- 2srnr$ - Sc,rs0

?gbq- sIS.
-css -F-

$.^S-5
t*g: i

*-a -e

-2C7,W
.- |

t) q*rezee tuq,

l-r/u\

4c';:.
f -zlt- sr-+c =o
Cr-r) ff-r-e) =o
[r-') C:-+ z)Cr- s )=o

4. ?C

3

O S [o lS zo Zs

o z.12 z,t4 3.a3 vry l,gt
F.pAT <_ 12.k\l

3-t t -3 ^ z
-r. - zJ- -Se- + (.

-.13 + f2

-q-'- sx- + 6
+f,t -T

-6a- +e
t6J__ s

<)

3o

Slg[-*+r*sr + 2x ?-{<r

* &+o+ z Qlz +2'q+i-3'o3 t2'r1+- t-ttf

,"Io 1-Z--) o/to* *-\ I 
,aZ/-3

,//

L/<I'-

*ota
\*t t -:

/v

*v.t'. (+) = ee,LtB--

$ -- 68.2" s- l$oq 14 = e \A3, -

0r = 68'2" ,/.,
Or : z4B.Z' ,t/vL -'v'. 

/r/



o
6.

)&--3E

&lf PE;

:_ lc

3.- 9r

,(z -jtr

--3 --

s --6tz-l

(ogor- + [%.(*-.) = {oqo {o

e \qq ["O-.)]: tgro

;b. b'-3"1 = I?"QD)

? ai-32 --1o * o

- Cr-s )G+z\ =_o

t

-t
tl

:-1 -/

//, g

q l)

PA

\ari,

\

/

o [16payq of

7 @ G(40 frrff "t
6 (3o{I(og o[-

fq= C, ti)
/t-r u \
l2 tt)

L r\ t,l

Lrs
g- + = rt$_-}1

=/



9zr \Yffif P4ffO I
t.

-/t_
,t

I

@

----.:

---7

=

-)

-/:7

BY Trie cosu{t puLF

feq t: [nc1' * l+t['
-12 ^ z[= -{ +9r'
41 : e2+ (f-'-

- ,l,s.[ l4'-\ ccsb

- zr(3r) " *,
-44-

S lr.\€ 2u €

::l!-q-7

{?,
."2

B7 r+e

surD
3L

StvrE

^i7
;
/sy$

srvr D

+q, = h3
1= az

tt/:I
(troJ G,oi

.--\---7

:)

t+/
,/e
21pu rutr>p

9.

. !,= B+t(^)j
u 9t= t{t-[ -13

S
4

+I t4
\ eli

-[
*5-B d'

4(r1rl )

t,b
A



I

cz, tycs, ?area il
f4 r -)- \ qr= + l6t-- \gJ.

t

------_ -J-

^

Ls S - r:rl
-11

3(
3

4s _ 3l
z)

J

ll0;
t'

," ?.tgQr:tfO 4?64 =
.

I

,l

'qJ T6ffu \iNnr\ =- 6o 
,

/
Qr+:rts\ ) n C*+ ). + l0) _
Sa +=a0 =@

t
*Zt

5LJ

l



6--
C2\ \yGB, p+rez +
q A= *(^s:o )r'+-3or d)

$uJt 6? <e{zc

= +(.1ro)r+3o:o
:> (f-'.) r =- -6o
.= (.,-^6 )r = 6c

6o
*{-: % to-6
:L& 7.zs6g_-

It
Ll." , $= s\\r tNtQwr TH€ & ,Str

frsrLv rucir) Bu ris @N{
tuat<ftr 6(cQ/ SCa), *y

lno\truiS \r n+i ) FK0&\ttJ

4'bt"
I

;, lt$-t t\ + tpfizw,t- K|-r"i
(t{urL of I

"' 
V)= 3//

: I(,61'.) . .,

W trc+l r\ r NUtPdr"lffrfl

oC f,
So M Mtntut

V., = lo8.Yst -/tt+X

Vn,o= y

AmrzN4ri\lt-

3= srnCur -+)
f n[S )- b =o 4-- rev'a ruM(rr

t n (fl -h = 
tI 4- zrD el'nfire$r

eF Sturl

ab - bT
)\ 9
)d = 4I$--.(vqu\

)

rlq-__ ftrr :r
T l-- \r

h{ - 4rnrt-117

h = 4vr -1
l= 3h
\n- ? --/vt - )./*

-ttf

q b:![ S=y,/
"/z/r'

d3
o\t'

-\
-)

\
-,)

-)

H = +Gr-,-)*+3o

a--

Ng<r D@L wrrr+ n]€ TaANeeTnd{
tohq {+Lt ?cl\G St{rck c\e
"s[otltq''

t0t.\r-Nt!_ q=,O 0N l= SUI

OtE, OTf
-]'.)+- *lt-
v+ 3F


